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2. Write clearly the Question Booklet Version Code A, B, G, D or E, in the appropriate 
'': n

space provided for the purpose, in the oMR Answer sheet. 
tI rs crPPr vP' r.rv 

r-l ' ii

-& "Ea&gf.the name of the Subiect, Reg. No., Question Booklet version code and affix t1] 4
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical A :
Mark Reader (O.M.R.) system, special care should be taken to fill those items

INSTRUCTIONS TO CANDIDATES

1. lmmediately after the commencement of the Examination, you should check that I
this Booklet does not have any unprinted or torn or missing pages or items, etc.
lf any of the above defects is found, get it replaced by a Complete Question Booklet
of the available series.

h

accurately.
4. This Question Booklet contains 70 questions carrying equal marks. All questions

must be attempted. Each question contains four answers, among them one correct
answer should be selected and shade the corresponding option in the OMR sheet.

5 .A| | theanSwersshouldbemarkedon|yontheoMRsheetprov idedandonlywi th
a black or blue ink ball point pen. lf more than one circle is shaded / wrongly
shaded / half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. lf any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. lmmediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated tillthe OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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d.ndode *aD{of e,3. a. / a3. axf :r. / D. tu o. / r,9. axo,l

(o6noa) doefu oger'/*e 2021
(,ae$rane) (aY + elcn)
(2018-1e $* d€dd)

AECC - ENVIRONMENTAL STUDIES
(Non-Core)

no4ndoab:3 $olift+lt dOd aodrt$: 70
I

elCoQrrlerl d.oa+Sd$
1 . dod* gdo$rtood ddpde €r dg.dl*o$O_ $)qdmriC tr@ doad:d erdaa qlDdde d)t^l

.ae.r_a$$d>.aorarlddlOedl doegid{dro &e6 ol>dde doeddodruodO- erddlbog&n:r
e{adrd do{p eo raa d aJ e d dU.* dtatoodl ddq$*{drd

2. dg. d;l*oo ddro' doear A, B, G, D ecd6a E osq (OMR) etugd dgdo$O- erdao*A
udhdenn$d dog {ddO_ udod:de$.
e,\,Ed dgdo3, ( l-. ao. ud. ) dleei odadaxrd {ddo_ doero* odo$, doeoded d*i, drQ dd". dgd
ddro" doea" oarlo dbo$dldatmoiaje*. e,'Dgd dgdrlddluqdrr dnrr oedo"(O.M.R.)
drd# ecdrrbeoaan da:r,d:$dood ddo dnaerlddlu* az{odoorcd der d>dajed:.

dg.drato:r 70 dd|sJdludrlooad>o ddDd uoddddldnoadrJd oeD_d#9lfo enSfoddedr.

$eotood: ddf m** sDgdrlddtoedsondrdd. de ddf nooJDd e.ocb w$ddd1dn9 
"Q

drDadogrJedr. uoQ dnad erugdddlt".ao.sd. engd dafo$O- deo' dnda3e$.
ae4 w$dddqoubri adniend L".ao.erd. suEd @dob aadod: d:eeJ d-{; uf,ao OeO
oogro$ srrsr mourg[,tr dQ0od rbd]d: d>dgJe*. uocb de$ uod> $d;i t od{od dt^tp

{g d$iq qJ.e r dn a d Or/ ddl 49 rlddi qle r dn a d oJ er t' r 49 rlddl qJ-e r dn ad o- o$a $ d e
emddddloedenrb{aer.,

d#dl dqd drdJ uod Undod:O$€d. ddd $-dfdo-doded eruoupdd, dod:ae^u,, uor{sndoi>

Edfdqr{dbeiDddr
doed*od: dlgod:ddldo?J$d ero9ab {roti enoxrd d{eade (OMR) ergd d$dod:O-"aanldlde
rb$$ dDdddqeO;iuie$. &odao$ d>eOozodd$ uocb pdleJ$d (OMR) e,ugd dgdo$d1
ddg ddd* driubdro$cdddrto 0d1 0d3 e#ddO$be d.:eedd{do dndaoc d:e0oaoddd dd{
OdL(OMR) elDgd dgdo$dl&ead dodd Oed doeq dodaourod drod doerlu*cb.

Note : English version of the instructions is printed on the front page of this booklet.
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The adverse effect of modern agriculture is

a) Water Pollution

c) Water logging

erdrad{acdl d{omadr

a) aser d"O{

c) Oeod enflonr

QP - 494

1.
b) Soil degradation

d) All of the above

aodo ddobqd.

b) SaprotroPh

d) Decomposers

b) d{get3gery"

4 adsddd)

b) dls{F erdde

d) d:eOd aeSP

2. Water logging is a phenomenon in which

a) Crop Patterns are rotated

b) Soil root zone becomes saturated due to over irrigation

c) Erosion of soil

d) None of the above

dao.lc'r enAon{' uodr adrdndaand

a) g3d dndodd erddrd

b) ssolDd ac@doo>oon dx*J $Do dero$d u$rmn$$d

c) dra$dd$d

d) dleOd oln$do ero-

3. Producers are also known as

a) HeterotroPh

c) Autotroph

erDodddd)
c

a) duldoubrW"

c) udoetSgeq"

SPACE FOR ROUGH WORK

A
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4.
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indicated the totar mass of organisms at each trophic rever.

b) Pyramid of Energy

d) Pyramid of Ecotogy
_ _ 6e @ed,,a" d:ogdO_ xeadd z^,e;* ddoogoJrq dod$Ed.
a) dedogo$ d,ldaJcso

c) noa3ro$.ldarcs" d) dodd aeo;Jd ada:ac
5. which of the foilowing is management option for air poilution ?

a) Regulations and standards

b) Transport planning

c) Using CNG as fuel

d) Ail of these

€t ddnddrldO_ aoobdnO{d* &drdma uoQ odndlcb f
a) oo$abrlsb ab* dnddoddgt)

b) saori ojoeesd

c) xlodfdo$q eodddDn udxb{.1ct:

d) "adel"sdp

6. The Air (prevention and contror of poilution) Act came into force in
a) 1981 b) 1e86 c) 1991 d) 1e48
nae (dnod ddrro^gnd rt * 00$o$eo) oob eoori uoodl
a) 1981 b) 1e86 c) 1991

a)

c)

Pyramid of Biomass

Pyramid of Number

I
i

J

-l

0

d) 1e48

SPACE FOR ROUGH WORK

A
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7. A sudden large increase in the size of a population is called

a) Pollution
c) Populatlon explosion

b) Burst
d) Propulsion

QP - 494

every year.

rddoa3rod: ro$dO_ dend &d" dqdddl aocb ddo$enrbdd.

a) dnod, dod doe
\c

b)

d) dlododlad

8. World Population Day is an annual event, observed on

c) wddoadoS: do*et^t

a) June 5
c) March 31

b) July 11
d) November 14

b) aoei, 11

d) ddoucl"14

dDdd abraodod er#6+dd*q .adood rdnden nd

b) Agriculture
d) Urbanisation

b) Weight
d) All of these

b) drDd

d) qdeJdB

c) ddre

o) {,4
d) drloeddeo

10. Atmosphere consists of 79 percent Nitrogen and 21 percent oxygen by

a) drrno'aeddeo

a) Volume
c) Density

a) $dnea
c) ;oo$d

'adood aasoddeod) 79 d.gdd rodrgdd ab* 21 dadd ud:_erddde dooasgd

ado a#oaq 6dd aaard roo$r$ab6rERdo, qdq $eddr docb
uaiodenrb$d.
a) anor 5

c) dnzf r 31

9. The basic requirements of human beings are provided by
a) Industrialisation
c) l{ature

SPACE FOR ROUGH WORK

A



QP - 494

11. World Environment Day is on

a) Sth May

c) 18h July

add dond ad
a) ube 5
c) zoe3, 18

a) air pollution

c) soil degradation

b) 5tt' June

d) 16tn August

b) a,oar 5
d) srkf,16

b) water pollution

d) all of the above

-6- |ililililfiil]|ilillt]$Ht

12. Which of the following are maior environmental issues involved in mining ?

b) aser d"Oq

d) d>eod doJ&

tl

l'-l
-a

d:td# dddd) .add#^,drtooc&d *rrl,u abo?il drtcb 6?*gd
a) nodo$d dt'g

b) nd dBedaoddst)
c) a) db{ b) addo

d) &eOd olndldo ero-

dr d$jnddrldO_ dednDsfobO_ ddr)$ dodd dd>{d$b orndldl f
a) aaoll drDOdd

c) dlogp egdd.e

13. Soil erosion removes surface soil which contains
a) Organic matter

b) Plant nutrients

c) Both a) and b)

d) None of the above

SPACE FOR ROUGH WORK

A
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14. The impact of construction of dams

a) Submerged forest

b) Loss of wild life habitat

c) Damages downstream ecosystem

d) All of the above

15. A herbivore is also known as a

a) Producer

c) Second order consumer

4Docsq
a) uq#

oP - 494

uddo^lg'ld Odn r ead doraoab

a) drx$nd ad>

b) a& *eddd o-d-Fd d4,
c) dinfuedr dodd {d{osq 6"Orrra#Dgd
d) dreOd as$!

c) oddde do-dd erudqJoen

16. The true end of any food chain is the

a) Decomposer

c) Consumer

odndlde sr6ad dddeoO Oagmd u{dodd

a) a{rridrld)

c) wdrfoeh

b) First order consumer

d) Third order consumer

-odo ddoJDed.

b) doder dodd erudqtoen

d) abodde dodd wdtfoen

b) Predator

d) Human

b) gdeo"lo

d) drDdd

SPACE FOR ROUGH WORK

A
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17. The second trophic level in a lake is
a) Phytoplankton
c) Fishes

ddoeddd addde r,3ge.pn abul
a) d{ {f,d
c) axdrd*b

18. Energy flow in an ecosystem is
a) Bidirectional
c) Multidirectional

dodd dd{o$oJd dEos dodl
a) QduD
c) ud>o{d

a) Nitrogen cycle
c) Sulphur cycle

a) sodadd z.l$
c) de*or atg

a) Water
c) Solar

a) &ed>
c) fod

b) Zooplanktons
d) Benthos

o) qged ddd
d) eJofroexr

b) Unidirectional

d) All rounds

b) Carbon cycle
d) Phosphorus cycle

b) Wind

d) Fossil

b) rne
d) ddobed

|ilililill|]iltl]tl]ililtru,

b) adatd
d) aeD_ do*.ldc

19. which one of the following is not a gaseous biogeochemical cycle ?

j

l'-'\
-a €t ddnddddO_ o$Dd* t:ee €ad oo;ooJ:Od rd$dcr_ ?

b) ouro'd$
d) doa# zJ$

20. which of the following is not an inexhaustible form of energy ?

€r ddnddddO_ otDd)* ?rocb dndendd djo$e_ ?

SPACE FOR ROUGH WORK

A
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I

{,ad uoedl dl$raah udrloo@d

a) aredenf

c) uor$eo"

22. Apoisonous gas given out of a vehicle exhaust is

a) Methane

b) Ethane

c) Carbon dioxide

d) Carbon monoxide

mddd oaa*daod eroooarbd odoo egOer

a) oedff

21. Biogas contains mainlY

a) Methane

c) Butane

d) ouror dooaE^ra"

23. The purest form of coal is

a) Anthracite

c) Peat

b) Propane

d) Carbon dioxide

b) {gedeo"
d) "aoroeid { udrra

b) Ligqite

d) Bitumen

h

dodod $qdrad
a) uoqg{ts

c) aeo,n

b)

d)

o{ttr
?,)t^Dd)Fr

SPACE FOR ROUGH WORK
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24. Loss of forest has led to
a) Erosion of fertile soil
b) Global warming
c) Loss of habitat of plants and animals
d) All of the above
uoBd d{p qdd* odeaoand
a) frerdgd dls*dddd
b) mrlsd oddndd aod
c) d{rfsb rb* rgtdrtd uaadngJd d{,
d) ubeod osJdB

25. Which of these is not a fossil fuel ?
a) Coal
c) Natural gas

"qd)rldO_ obdcb ddobsd eoddde_ ?
a) do_der
c) {dnrd erOe)

26. Which is a list of renewable resources ?
a) Petroleum, geothermal, wind
b) Biomass, geothermal, hydropower
c) Natural gas, wind, biomass
d) Hydropower, solar, wind energy

ililIilililt|iltil]ilililtfitt

b) oil
d) Uranium

b) diJo

d) obdeOod>o

daedodudrcod doddgerdd dq o$Ddcb ?
a) duSgeoolro, doryoO, roe
b) dedoag, qlomaD, ese;dg
c) {dnrd erOe, nag, dedoog
d) a;etd6, FDd nDg dj

SPACE FoR RoUGH woRK
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Red data book contains data of
a) All plant species
b) All animal species
c) Threatened species
d) Economically important species

do$ deo,o dd*A deo^add: udrlooad.
c(

a) ae4" n{ $dedrlsb
b) DsD_ aged znsdsb

c) ereadozsd ded m9rlsb

d) uQrddlan ddDa) eo.grlsb

IUCN Headquarters is at
a) Morges, Switzerland
c) Vienna, Austria

scoJD$odr ded dz^ieo e$d)d)

QP - 494

Ji-

b) Paris, France
d) New York, USA

b) orox",Bqa) doairf-t$ F6

G
Hotspots ar€ reg[sns of high
a) Rareness
b) Endemism
c) Diversity
d) Critically endangered population

6?[,3c5ot3cdgb dqjd $deddwond.
a) erddod

b) deeod:d

c) {afrrd
d) .9e$aan ereadoasdOJ$d rsdd*rod

d) dqodDfr, oJpanro

SPACE FOR ROUGH WORK

A
i , l \
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30. Which group of vertebrates comprises of highest number of species ?
a) Mammals

c) Reptiles

a) d{orldr

c) doe{dd*tr

31. Treated water can be disinfected by adding

a) Alum

c) Chlorine

b) Fishes

d) Birds

b) ax$r(sb

d) ds;lsi,

b) Fluorine

d) Oxygen

deoipd atroeld doeo$ dadrioedu*cb.

b) {p_eoa:"
d) eab_add

dded:drld oJDd rbodl dqil doa{od: ?DedqJdl adrlooad ?

. t -
-

Fv']
Fra

dod,oxrd pedd>
u € t

a) uoalr

c) *goor

32. pH of rainwater is

a) 5-6

abd eeod pH

a) 5-6

33. Logo of WWF is

a) Giant Panda

c) Red Panda

WWF d enodd

a) gdo oood

c) dod aaod

b) 6-7 c) 7-8

b) 6-7 c) 7-8

d) 8-e

d) 8-e

b) Polar Bear

d) Brown Bear

b) Sd dda

d) dod> dda

SPACE FOR ROUGH WORK
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a) Sulphur dioxide
c) &one

a) Hertz

c) Decibel

b) Particulate matter
d) Carbon monoxide

So tatlonrbo, adla doddod)od el$o
€Dd odto:x*1doo6&dd.

b) 06Fd d4
d) rouraf doinfloa"

b) Joule

d) Seconds

b)

d)

-13- QP - 494
34. which of the foilowing are consequences of ozone depretion ?

a) Skin cancer and cataract
b) Reduced growth in plants
c) shortening of zooplanktons and their breeding period
d) All of the above

* ddnddrldo- odDdcb t"doeor dddeoo domaabrlsb
a) tdabrd @r{d ufr* ds*J d1ad
b) {ddOJi sJddsdri daabolDrbdd)
c) Bsd 4iddrl$b ab* erdldc doodoed;f ,,de da$o$Drbdd)
d) &eod "roJdB

from orygen by electrical discharge or UV light.

0$

a) dgr € o*rd
c) t doeif

36. Noise is measured by sound meter and the unit is

Ser
ddod

gq*Q 
{n axo^loood erdo$eDrtEd dl{ edd addnd

a) dqj'

c) d:ra3ef

ROUGH WORK

A
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37. Which is the only country which has not ratified the Kyoto Protocol yet ?

-14-

a) United States
c) Japan

a) oir{t3"" *$L
c) aaaif

38. Ozone Day is observed on

doretSoe aaa3odd$oedq eronedodd adrd ded otDdcb ?

b) Australia
d) India

b) e:d.eOoJtr' a )

d) ?pdd

b) 16tn September

d) 26th March

add$ e*Sodenrbdd.' c l - g

b) d{ouo 16

d) dnaf r 26

b) Increasing

d) Not changing

39. The average life expectancy around the world is currently

a) 3'd January

c) 10h November

dodl t doeo"

a) addo3

c) ddoud 10

a) erderaand
' c) dadroJDrbgd

40. HIV is not likely to be transmittdd by
a) Sharing needles of injections
c) tslood transfusion

\_
l-l

l'-']

a

a) Stable

c) Decreasing

$doticn d"odd dodo dea@dQol> dilddo-
b) d?$gd

d) udorb€o-

b) Mosquito bites
d) None of the above

qdood aufas dd&d mdrd "aet-.
a) afia*g$qJ doddd{ dozsdoqbrdcb b) dod, d?$Jdcb

c) djd driardd d) d:eOd oln{do uei-

SPACE FOR ROUGH WORK

A
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41. The number of babies produced per thousand individuals is called

-1 5- QP - 494

a) Natality
c) lmmigration

a) dtp0Lt

c) dcd

42. Jttt ll b
al ffi Environment DaY

C frt5 AIDS DaY

n{11

rl $" dodd od

d edd aq od

b) Mortality
d) None of the above

b) abdea -gd"t

d) abeOd o1n{do e*.r-

b) World Population DaY
d) World Education Day

b) od.j adioaq ad

d) add Ad"ieo od

$e saad *rled ra*oJrarbd a$dd noa3roodl beriodr ddo$orb$d

UNCED stands for
a) United Nations Committee for Environment Development

b) United Nations Conference on Environment and Development

c) United Nations Community Education Department

d) United Nations for Culture, Economy and Development

UNCED aodd

a) oJrl{o36so dedq datug paor aq@dtr$ow dde;ufd:0o,tr (dodd cpdpn

doob! oadrld ntus)
olrl{r3cr dedq -qdq eror dqoaorabottr urod ddelodlour (dodd d>*
epC% dro$ doob! oadrld ddnded)
qJD{t36" ded{ dduDde$ adlrdedo" ae"r,36Fd)ow (dooll>! oa{rid

ddroao$ ad;o eenai)

d) ob{t3ac ded{ Wod dgo, 'arrdtu urod dde-:a'd;otle (dod,e, uqrdd d:Q

cacwn adodo{)

b)

c)

SPACE FOR ROUGH WORK

A
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ecosystem.44. Savannah, Shivalik hills are example of

a) Forest ecosystem

c) Grassland ecosYstem

xidoa . 9oaOtr &ef' 4 '  ^ J
dodd daJdo$ erucodd#.

O Q

a) edeo, dodd drd{ b) #$qJoar dodd drd{

c) d>egoder doid drd{ d) dodd dodd drd{

45. _ includes non-living factors like temBerature, light, rainfall, soil,

minerals etc.

a) Abiotic environment

c) Built environment

eoddnd, uJddr, abd, dxal, aD0adsb d>ood &derd eroddddl

udrlooGd.

a) er{Od doid

c) Oarrd dodd

46. An is a dynamic entity composed of a biological community and

its associated abiotic environment.

a) Ecosystem

c) Society

uodr aoaud> €ed d#oao$ drdJ odd* douoQftd el{ad doddood

doad {oaalu" dridmnd.

a) dodd 4d{ b) dodd

d) deic) ddnr

b) Desert ecosystem

d) Pond ecosystem

, t -
-

l--\
-ta

b) Biotic environment

d) In situ

b) €Dd dodd

d) eN" rdr

b) Environment

d) Niche

SPACE FOR ROUGH WORK

A
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47.
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biological community of plants, animals and fungi etc., over

-17-

r f f i tgtoNat iona|ForestPo| icy1952,thereport ingareaoftheforest

time, have reached a steady state.

a) Primary succession

c) Secondary succession

uoepdodddo_ gd x6ed derad.

a) gSa# w$oaqod

c) Qecc$ udr$ub

-b

|l5or

b) Climax community

d) Tertiary succession

d{d$, agedrl*b drQ aOeodtlsb.a@dadd €ed idrcoodrdl

d) 33.3%

ttrlf.O edq P,ee 1952 d 4-d, edeardd: ddo dnd:d $ded$ t,e^1, tJoAro$O-

sr$*tl

a) 50% b) nos6 c) 60% d) 33.3%

of the total land.

b) 4OY' c) 60%

b) d_rdD.,q ddlcnol>

d) du9eod: udl$ab

b) Chemical reaction

d) Always exists

b) oanao$Od gobobod

d) tud ctud aod
^ ^ <w

49. Soil is formed by

a) Weathering of rocks

c) Spontaneously

**,u d?.idolDrbgd.

a) uoddd gQOeddeoaod

c) {ollo$eodunn

SPACE FOR ROUGH WORK

A
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a) Air borne
c) Vector borne

a) roeo0rod dddld
c) doedaadddeod ddd>d

51. Omkareshwar power Station is located in
a) Maharashtra
c) Karnataka

-18-

swo ott c5f, ao eoo, aa, oa s wo oD u5f - do erlrlqri eru cn dddrlso nd.

b) Water borne
d) Genetic

b) Oeo0od dddrd
d) erdtdogd

b) Uttar Pradesh
d) Gujarat

b) w$d gded
d) rbwoae

b) t;.odrr s

d) ddouo 1+

b) Red zones
d) Green zone

l-oadedod aqd deo$dl
a) atloaoa{

c) doarc;d

F+
H
(t

52. Internationar Day for Biorogicar Diversity observed on
a) 22 May b) s June
c) 6September q MNovember

a) dle 22

c) d{ouo" 6

a biogeograp.hy region with significant level of biodiversity thatis threatened with destiuctioh. 
-

€Dd {edddo$ eroddoageodr od

a) Tropic zone
c) Biodiversity hotspot

ercb adDdd erdtDo$d$ aoooa. 
v c ct -eJ-- - r---' -'

a) dgear derodl
c) ded{ad, aao*oye
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b) do{ldero$rlsb

d) d$& dercdr

; '
ii,€
#
f, A
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50. Typhoid, Cholera, paratyphoid are examples of diseases.
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54. Radiation does an often calculation in the units of

oP - 494

a) Rad

c) Pascal

a) ord

c) oa{ef

55. Silent Valley National Park is located in

a) Karnataka

c) Madhya Pradesh

b) Joule

d) Kilo

asdead d d"t^idrldo- uro{ e3ro*zod drD*gd.

b) dref

d) Setoe

State.

b) West Bengal

d) Gujarat

oaqdO_.ad.{e3ot^f aarO oarddef oodr

a) doarud b) da$, uonad

c) d>4 ddud d) rbaod

56. NDRF stands br
a) ilfu|t)isbr nesPonse Force
b) National Disaster Rehabilitation Force

c) Natural Disaster Response Force

d) National Department for Resettlement and Functioning

adrBerdoqr aodd

a) inuddo am{o d*qoq {pen"r (-s,*oo ad* d.ego$ dd)

b) orduio aro{o" oal"dsOriedo" {pexnr (oageodr ed* dlddrd8 dd)

c) oara$der aro{o d*o,eq {Bexrr ({dnrd ad* degob dd)

d) andden amurrd>outr por odt^iodrottr urod frod$on'' (dddrde dr*

aod)ro*h ctD$eo$'aoa3)
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57.

a) Medha Patker

c) Amritha Devi

odoreoJf aJddeod>dl drddxrdddr

a) $eqa diD%o'

c) erd>rd dea

and its various usages.

a) Yajurueda

c) Atharvaveda

Odddo$$ edrtooad.
c(

a) odra,lderd

c) erSdrded

a) u$d

c) oaddnd

-20_

lead the Bishnoi movement.

SPACE FOR ROUGH WORK

b) Sunderlal Bahuguna

d) M. G. K. Menon

b) t'oodoerref udrrbea

d) oo. d. f. $ddr"

b) Humidity

d) All of the above

b) u$rd

d) &eOd ostsJo

|nffiilrlil]ilt||fl|||]tl

58. contains a detailed and organized description about plant life

Fl
{
f-
-
U.

b) Samaveda

d) Vrikshayurveda

d{ xedd abQ edd aad usjddd u{ addoad rb* doSutd

b) :od>ded

d) {ro*otlderd

59. Which among the following is a climatic factor ?

a) Pressure

c) Temperature

€s ddnddrldO_ o$Ddcb doodnd etodoofld ?

A$*;:

;
I

,j

t:

€
I
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60. Which of the following is an example of a man-made ecosystem ?

a) Tissue culture
c) Aquarium

b) Herbarium
d) Forest

$dCnddrldo-odDd&dDdd&arrddodddrdfferuoadddoJDnd?
a) erorDod dr, b) nd*roOd

c) er{eoc6o d) erdea,

61. UNEP silands for
a) ttl*ld l,lation Economic Protection

b) Ulbd National Economic Program

st tffil Nations Environment Program

4 l,lnion National Environmental Program

c6}})f'acb aodd

a) o1r>{t3o' dedii" adnnarr dgdd$

b) olrl{$a" oarddo adooarr dg'rgo

c) ob{n3ar dedq .rqo?ilrd:orf {gergo

d) o1ro0od>or FDdddef aQoocdlol'f {gergo

62. Sundarbans is an examPle for

a) Lagoon b) Estuary c) Mangrove d) Reefs

ioodouq uocb qdd* etDoadddo$and

a) e.:rlooo b) doed>aDu doar c) roooa-dd d) uodrlsb

is obtained by decomposition of animal and plant wastes like

arit"l dr.$ with the help of microorganisms in the presence of water'

a) LPG b) cNG c) Hydrogen Gas d) Biogas

Oeod wdgeoOO- dod*rdeedd iaaodraod agedrld ddedobe dlood

qrd $* d:^bd -r%iQ dodt'Dd droetd ddodrenrtrdd'

a) oefad b) lradt'd c) €dgezgor seOe d) €Dd eee

QP - 494
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64.. Which one of the following has the maximum genetic diversity in India ?
a) Tea b) Teak c) Mango d) Wheat

er ddnddrldo_ otDddl qndddo_ dod u$doad €odddo$edoood ?
a) zSoa b) ded c) *Dd) d) rloeQ

65. Disposable glasses and plates are made up of

|ilililil]il]]tl]iltilill

a) PVC

c) Polyvinyl alcohol

a) aar
c) aao&{sc srelodea?ef

66. Yellowing of Taj Mahal is an effect of

a) Acid rain

c) Ozone depletion

a) uab_*d

c) t doeir ddde

a) Maldives

c) Fiji

c) qrd

tsnDdud)cmd rnrc dl* freldrldQ .qdood dndennd

b) Polystyrene

d) Polypropylene

b) aaO{Qroeof

d) oaO{g{Oeo6

b) Global warming

d) All of the above

b) Sri Lanka

d) Indonesia

b) $eercm
d) eodoedeoo,

s'ouf d>defd ddoo$Drbadri edr aodeoaofld

b) eoded saddndd aod
d) dreOd aoJ&

67. Which country has organized its cabinet meeting under the sea to drag
attention of the world towards the global warming and its threats ?

sorlgd ooddnd *{ erdd &jdoddd ddrt addd rl*dddldcoJrel olDd da$ q
rrdadr,tr iqJo$q d#dd ddri eroJoedlrd ?
a) dno"eq
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68. Things you can do to decrease global warming include

a) Reduce the usage of your air conditioner on high

b) Turn off your light when you are not using them

c) Use public transports instead of personal vehicles for transportation

d) All of the above

mrled oddndddldc& dnder oedl dndud:oad dsddsb dr ddnddrldO- deod

a) ed3 da1d daooo$o$ea udEo$dl dadr dna

b) eed rjddS. uddaq"l er{rrlddl qr6r dDa

c) naoriron {o3>Ed aadddd udOri xadrag0d xaorioJrdl udxr

d) $eod asSP

69. is a composite statistics of life expectancy, education and

income level.

a) GDP

c) Nl

b) PPP

d) HDr

.ad> *eaodQ, AdJa dlQ uoao$d abqd iooJoedd eroEeodacofld.

b) &.eJ&

d) aaraa

70. The largest country in the world in terms of population is

a) daa

c) aorec

a) India

c) Russia

addoado$ {,Xouod adod e$dod ded

a) qndd

c) daa,,

b) usA
d) China

b) oban"a

d) z3eon
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